Efficiency vs Dxy(PV)

0.8

efficiency vs dxy(PV)

i
| [l
[l

1 5

#
[l

‘ ‘H
0 5

10 15 20 25
TP dxy(PV) (cm)

—=— DQM_CKF_TThase
—— DQM_CKF_TT_retrainOldFiles113
—=— DQM_CKF_TT_retrainOldFiles125_v2

efficiency vs dxy(PV.
o o
[

I
~

0.3m1-| 9
0.2t -
otttk
o0 i i
: n
14 Bt It
i e Rt 14
m W
“-1-0.8-0.6-0.4-0.2 0 0.204 0608 1
T

Efficiency vs Dz(PV)

P dxy(PV) (cm)

1.

< l2p T T T

e [ : :

§ f : : :

e I=---- - R R R R [

> I . . .

> [ : :

o r . . .

E) 0.8f----- Pl ettt

s : :

E r H H .

(5] o . . .
0.6~ AR reenes R R penees
R RRE o SRR e
0.2f--e e PREY P P T e

I | i i
o+® . :

T . :

x H H

freeeedenenes PR | TR ETI P
0¥ =20 -0 0 10 20 30

Efficiency vs Dz(PV)
1.

TP dz(PV) (cm)

S -
[N
5
o1
2
>
o
& 0.8
L2
@
0.6

o
»




	Contents
	Page 1


